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QUESTION 100

You have finished changes to many jobs and shared containers. You must export all of your changes and
integrate them into a test project with other objects. What is a way to select the objects you changed for the
export?

A. Sort the jobs by timestamp.

B. Open Quick Find and select "Types to Find".

C. Use Multiple Job Compile to locate objects that need to be compiled.
D

. Using the advanced find dialog, specify in the last modified panel, the date range of the jobs, and
appropriate user name.

Correct Answer D

QUESTION 101
What two Information Server tools can be used to create deployment packages for DataStage jobs? (Choose
two.)

A. istool

B. Information Server Console

C. Information Server Manager

D. InfoSphere Metadata Assset Manager

E. Information Server Web Console - Administration tab

Correct Answer AC

QUESTION 102

Two new columns have been deleted from a sequential file that a number of DataStage jobs write to. You have
imported a table definition for the changed file. How can you determine what jobs might be affected by this
change?

A. Select the new table definition, right-click, then click on the Where used command.

B. Select the original table definition, right-click, then click on the Where used command.

C. Select the original table definition, right-click, then click on the Find dependencies command.
D

. Select the new table definition, right-click, click on the Compare against command, then select original table
definition.

Correct Answer B
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QUESTION 103

A job using a one-node configuration file writes to a target Sequential File stage. The target Sequential File
stage has been set to write to three different sequential files. How many instances of the Sequential File stage
will run in parallel?

A. One.

B. Two.

C. Three.

D. The job will abort, because a configuration file with at least three nodes is required.

Correct Answer C

QUESTION 104

A job design consists of an input Sequential Files stage, a Sort stage, followed by a Transformer stage and an
output Sequential File stage. In the input Sequential Files stage, the "Number of readers per node" property
has been set to 3. The job is run on an SMP machine with a configuration file defined with 3 nodes. The
$SAPT_DISABLE_COMBINATION variable is set to True. How many player processes will this job generate?

A 6
B. 8
C. 10
D. 12

Correct Answer B

QUESTION 105

A job using a three-node configuration file writes to a target Sequential File stage. The target Sequential File
stage has been set to write to two different sequential files. How many instances of the Sequential File stage
will run?

A. One instance.

B. Two instances.
C. Three instances.
D. Fourinstances.

Correct Answer B

QUESTION 106
What two computer system resources on the DataStage engine are monitored in the Operations Console?
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(Choose two.)

Disk

CPU

Memory

Scratch disk
XMETA database

moow>

Correct Answer BC

QUESTION 107
Which job log message heading identifies the score in the job log?

A. OSH script ...

B. main_program orchgeneral loaded

C. main_program Broadcasting score.

D. main_program This step has 3 datasets ...

Correct Answer D

QUESTION 108
Click the Exhibit button.

The job in the exhibit runs to successful completion with no warnings. However, a validation test identifies that
the CUSTOMER_MASTER table is empty. You suspect the cause to be related to the NEW_CUSTOMERS
table or a defect in the job. Examining runtime metadata may help you track down the problem. Which two
product features will help you isolate the cause of the problem? (Choose two.)

A. Director job monitor tool.
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Designer Performance Analyzer tool.

Designer "Show performance statistics" option.

The view data button in the target Connector stage.

InfoSphere Metadata Asset Manager (IMAM) operational metadata reports.

moow

Correct Answer AC

QUESTION 109
Which option is required to identify a particular job player processes?Which option is required to identify a
particular job? player processes?

A. Set $APT_DUMP_SCORE to true.

B. Set $APT_PM_SHOW_PIDS to true.

C. Log onto the server and issue the command "ps -ef | grep ds".

D. Use the DataStage Director Job administration screen to display active player processes.

Correct Answer B
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